B |

DO NOT OPEN THE SEAL OF THE BOOKLET UNTIL YOU ARE TOLD T0 DO SO

Test Form Nao. =
777 RN 8 CY-2013
TRAllowed 2 Howrs (For V.M, Canedidutes L2 s A0 i) Maxioernm Marks - 200
S EET 2 g (gt I & a0 vt an freed SEETT % 2 200

1 INSTRUCTIONS TOCANDIDATES i FHRAR & (o0 3w .
l::: rﬂjfltrﬂ SO D ey Al covcprilog: the o .. 9 T 5 200w £, faed Friattan e am onies ¥
art — A General Intolligence & Reasaning (F0 Cruwstive) - RRURE Eoue ki {30 777 ¥
art — B Ceemaral Avearemess {3 Duestnrs) H-W . S dAEE {50 Ml
art = L Cuanbiabive Aptinsde (50 O barsp g ufrmerE sy (500 S
art — [¥: Englisk Comprohermion (0 Dhseshions) i :
e : - iyt -1 At nfiEm - {50 T |
hg-uusu-m'ﬂmb.lllnmmjl:.- ity Engglish and Hind|, i oome of d SOTEpANCY, 3 T, i "
# English version will provail 2. ST i e oy o e e v S e 2 e Fy 4 o Foaf
E!Iqumn:uucmml-upuimq-md corry equal s 5 A e e w
e paper carriey nspative warking. .25 marks nal be Sedcted fr vtk | Xt we e e o ot ¥
| _omg susiver, L0 e — - T,
| Before you start bo answer the questions Voo mast check up this ! i L AU ijmfﬂh A Pyl i
| 20kbetand ensure that it conbaine all the pages [1:32) and see that ne | 3~  TF9 & 2007 = M 3T 4 Qe W v e g
15 is misaing o regreated. If vou find any difect in bl Bnkhit, o :]-Jz;tmﬁiqqmmq:mﬂqﬂ = mar i afE s em
| (st get il replaced dmanediately, _ iR & g q&mﬁmmmwmﬁ )
s s e N P s | T T ST s 45 e g o e
nan Soles 1 i iy o ool - 3
aialve serl Tt Farm Numaber s Sicdee] of the Avisnvr-Shest carfully ARl % STR =TT ST e, IR o fee ey T ey
o st abses put pr sgretora ard Lefe-Flaned Ssimmh bmyjrimminn om TR R A | ﬂimmﬂ'ﬁ;ﬁﬁﬂquﬁ’-mw
¢ Answer-Shevt at the prostribed pace betpme ¥ou actually shard Foiifen = © 3 w0 T TH A g i Fae o aEv
W the questions, Thes: instructioms ot by fuljy commgidied Tl e T 0 mE I TR AT e
th, filing whach, your Answer-Sheet vall not be eyalnated ared vou e ogiE e PR
| {Ebeawarded ZERD mark, (V.H. candidates wil have to ensure =S 30 A ey s A { gferafizm
| ththese details ane filbed in by the seribe. Howover all VH, cendidsdes TR ST Y T e e g T | ] A
15l put thelr lefi-hand Hvimb impression at the space pravided in mmm-ﬂmﬁﬁummwm T e
-‘inmnpshuL Thise H’.}-I.undid.:l:r_. wha can slgi shonld abss &7 B v wmmmmm Ea
bheir signatures in addition btk i pressinm. o L dwrE )
FEwars oot b slenem by coitipletely blackening the Lorresperdding L e = "!_".“ : :
thy o Side-11 of the Arswer-Shest against the relevant question | 7. 3970 :| S T Sde-) F T w0 % s S om LEe
it by Black/ Bhwe Ball-Paint Pen Only. Answiers which ae rat ST W B T Wi afe-ofee iy T AT R
e by Blacky Blise Ball-Point Pers will nog be avrardedd any mark o : STTETET T ETE T A i o T, = fee
Fmiachine wili read the caded information ' ths OMR R M
wwor-Shmet [n e the mbarmuation (5 incomplete o different from _'_' R e b} . )
infarmation given in the applivation form. suchandidabewill e |50 302w ""_'r Rk -q-ﬂ- m e ﬂ"" I U= f"’_FH T
! anled "TEROY thark ﬂ@?ﬁimﬁ!ﬂmﬂ'iﬁdmﬂfﬂt i i r-amsﬁa'r':q_::'
e AT r-Sheet 1k be haneed over to b s igilatie Barfore v ¥ foar A
L virthe Examgratian Hall soa - o - - -
3 4, e B e ol P W e A
Hure i comply with any of the above lpgtogetions will render g | ;m L i i ® oo
| wlidate Hable o such action Penally as may be deemed fif, PR, | i
= mancer i which the different guestons an o be answernd has |10, T % Wi o 3 Facelt w w7 o wee 3 W= v Soima

mexpained at the back of this Boakdet g Mo 335 which oy
rithd read carefully before actually anFscering e guestions
wwer the questions s quickdv and 35 cerefully 5 FOU G S
+stioms may be Jifficult and others easv. Oo nat spend oo mich
¥ UTL AN griestian.
{ S od Chogetin Mow. 39 0 50 and T4 to 18, relating t figaral
| “tiong, alternate questions e beer provided ke be attempeod by
1. Candidades only.
| mongh wrk is bo be done on the Answer-Sheet. Epace for rough
tk buws been provided Iseloiar the qestions,
Tolile phones amd wireless commrrnication demices wre
npletely banwed in the examination b llsf rooing.
ndidates are advised mot to keep rtolrile phones {amy otfer
‘eless commnmicietion deviees with Hhem coen stvitching i
o i Hvede oupn interest, Fajling to comply with this
wigion will be considered as using snfair menps in the
wtnation and action will be takew against Hiew incidiing
cellation of their cosdidature.” PR

11, fhm el T 23 1 P o e & (7% S a2 e
12.
13,

i4.

il 1

i} W gt 3 5 7w A 7 @ e e 7 g

T w3t WA Y e fem T mmm )

S e S S W ¥ W A T i s v

Wl % = fos = ik A e T T S5 2 T
when &1 et v v g sefhe s 9 ey

ST T Wi T e 39 B 50 T 144 R 150 % 773 F Fum
S =t g e B A o A Lt
hﬁimmm-trﬁmmlrﬁmh T wd & Fe v gt
ster femr

"ﬂhﬁm#ﬁwmmmmmg&m
Aife #1 crmTE Wt F st wmw o a fe
Mﬂfﬁrﬁmmm“#mmmﬂ'lﬂ
T OR ¥ FH UTTUTY W 3T T & w5 oty &
ST BUET T U W W S I ey v
T, FT Iy 7 w0 i




PART - A

GENERAL INTELLIGENCE & REASCONING

Drirections; Inquestion nos, 1 106, sedoct the related words,

fatfers S numbers from

Al

2

oiven altermatives
B2 {6

(&) 15 By M icy 12 D) 24

Hr'_:u:'::r|;:|.5'w._“ =

1

1k

(A) B N oy H

(A) BF0 (H) 124 [ R o

Lhstriss (B Sormow

{CH Disguist

-

L OTS (B)

{0 OsT
17

TS

. :
(D) KNH I3 Arrange the following words as per order mth

dictionary.

¥ '-"“!;-;l' tHILK : : NORQ : i 1) Acarpous i3} Across
(A} UVWY (B) POTS (3]  Accede (4]  Academic
L3 3TWX {7 IGNL {5}  Arcentuate

05 (4, (1) (3 (5. ()
4, teference material : Dictionary ;- Periodical : 7 <) (3)4) (1), (2. (5
™. Book (B} Atlas
() Biography U Newspaper 14.

(B) {20, (30, (1), {4), {5)
(O (1) A2), 14) (30, (5)

Which one of the given responses would be g

i meaningtul order of the following 7
I KMBNIE : ACTHF ; - PRSI
'y
[A) STVIV
() VXYZF

. {1} substance (2} atom

-l V1A b |'-'\'|_|
(D) LNPR

moeciile {4)
v (2), (33, (1)
(23 (3045, (1)

prodon

(B) {13, (2), (3. (4)

LY ) (30, 023, 01

L lea: Cup Soup ?
(A Glass B Spoon

{3 Bowl (A

nirﬁ'linr:;r'__l 1estiog
One term missing a1 et alternative from the
given ones that will complete the sapee

15 £ 18, & series is given, with

Mug

13, 2,20,56,110, 2

ol namibers / =
(A) 132 By 144

LIET R tves

Directions : [n question nos. 7o 12, fin

* s/ figure fnumber pair from the ¢ Ly 182 (Ch 115

[ e
IET

iA) Forgetting
B) Convergent Producton
« (¥ Divergent Production 2 ' 1 Q D) QO
{CY Cognition e
17 LMN, MNOI _
AT OPORST @y RSTUWW
O QRSTUV ™y

[A) 9-28 T .1-36
([} 13-42 Ty 7-18

1f 121, 22424, %

[A) Adi {8} A28 21 628

W |.|"'I_:' Il".'""‘a\!'...-'_'r i
() ABCT (L3

PRSQ
EFGH
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ST/ e = g
L Bentgs 3. 11 {A) 679 B 124 () 3R& \.a—:lfilﬁ
W1 @0 Q1 (D
12, (A) FEARE B T4
2 BED-GII:LON- 7 Mm () 7w
or1s B} PIS
{0 08T D) KNH 13, refefe w= =1 v 4 fon o #n F aEn
e
3. CDOF HILK (NORG:. F {1) Acarpous (21 Across
rAY - ENIVY Ml’ﬂ?ﬁ {3} Accede 4] - Academnic
I STWX My KGNI (2} Accentuate

4 STV FWAT ; TEERE ;o TEE .}
(A TETE (B) F=Fm
() \_LD‘II%HH"IW

5. KMNF: ACDF ;:PRSU: _2

(A) STVW ..laﬁx_ WY

(0 VXYZ ) LNFR

B, b LB O 164 |

(4 (1), (3), (5).42)
€ @00 20105

(B (21 (30 (1), (43 ()
(L (1) ) {4130, (5)

14, T Tl § B w-m e = 23 vl
e w7

(1) ==
3y A

\kﬁ'b/ (4], (2). (3% (1)

© (2 (3 @M

(2) A
(4) HER
(B) (1), (2% (3. (4)
D) {4, (3). 2 (1)

Frdwr - v e 15918, 1 v arge femn . Tt T s

;"x”” i A ¥ fow T Tl § & =% o e g @ agEs
e =im @) = F A
15 22,5110, F
Frlfsr : 5= == 7 R 128 o o P & oo Wy (A) 132 (B) 144 \.'rf'?a: D) 115
HET e e Tnuh
7 Gl‘)/%l'ﬁq?"' (@& S 2 L zifg:[’u—Lé;?__. .'((5/
& e o (B) QU @ QO
17.  LMN, MNOP, NOPOR, 72
B (A 9-25 qsr’n-?.a y OPORST B BSITUVWY
0 13-42 D) 7-18 (O QRSTUV (D) PORSTU
4, Ay WXYZE ._(:Bj', PRSO 18, 121,232, 424, .-
(O ABCD ) EFGH (A) 646 a{fﬁa © 626 (D) 524
T @ o T e
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A s B wifes husband’s brother, Cand I are ststery

&

¥} -
3.2
25

U |

of B. How is A related to C7 | 25 ?,K =3 0O
{0 Wike (D) Sister
26, From the given alternatives select the word which
From the given alternative words, select the word cenbe forined uzing the Iethess givel infhe wsd.
which cannot be formed using the letters of the RATIONALISATHON
given word | ASENSATION  (B) ALTERATION
PRESUMPTION _ (O TRANSITION (% INTERNAL
(A} Tier "y Pompous
i) Pump (D¥ Ruin 27.  After giving a discount of 13% an article is sold at
: ' | 2550/ -, what is its marked prive ?
o (A) 3200 (B 2000
IFBEAT=25-22-2h-Fand RUST=9-6-8-T, =
how will you code ‘BURST' 2 ) 2900 (o Sana
(A} 25-22-9-8-7 (B 25-9-6-85-7
E [§ 2 If + means +, — means X, * means + and
(© 25-9-8-7-6 « [OF 25-6-9-8-7 = meang =, then which of the allernative 15
correct 7
Inacode language ' TEMPORARY' is written as LY S
‘EPRSAYC /M and 'EX 7' a5  PGNYXP How @ 33-2-10=1x5=1h ) '
iE'.:ﬂ#‘URE'Wﬂ.HEHthhﬂtCUdEE () 38+ 54 TRE=T15 i i
(A} OPPYVYF & ORXVYT D 10=12+2+30=1=10
() OFPVXP D) OXXYVP
a 29 [he aue of Ram i double as that of Shyam and half
: _ as that of Suresh, I the sum of their ages is 70, what
How many such pairs of letters ave there in the word s the age of Ram ?
. RECOVERED, which have as many |letters between i ;
them in the word as in the English alphabet ? (o (5) 30 (40 @ 10
(4 Three (B) Four ) Six {1 Five
4 30, 1f PROST is coded as 13245 and OTUWY is coded
T a5 05657, then how ts TXOQP coded 7
A train runs for 2 hrs at the speed of 40 km/h It (A} S9021 (B 6021

1 S X
runs for 45 hrs at the speed of 60 kil and (hen () 2109 (L) 95210 -

1 etk
runis for 35 hirs, at the: EFEEdﬂ[?ﬂ kﬂ'l_.'r]'l. Find the ':!'lj Isert the arthmeetic operatiodis i I:hE: Eﬂlil’.‘;ﬂ".i]'l-]'::
averagespeed of the train numerical figures -

- Tw q L —_—
W 595km/h (B B0 km/h i
_ (A} £ % + By — %+
(D) 5687 km/h (Y 571km/h
Vo) oo T = + %
SPACE FOR ROUGH WORK
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14,

ABFiTHR R T bicsp sl &

AT CR BN EIE 7 . Rt
| B W (4) 2 B 3 @+
(O} T ) =i 2 .
28, ﬁqﬂﬁﬁﬁﬂwawm#rqﬁqﬁﬁf&qw
_ e wOE e A W WA
20. e feeed | 4 0 = g o e s RATIONALISATION
ﬁmwmmﬁmmm: (A4) SENSATION  (B] ALTERATION
PRESUMPTION J& TRANSITION (D) INTERNAL
(A} Tier \_;Bf/ Pompous
i) Pamp D Ruin 27, EEFR W LS e S e T 2550/- 1
: T AR | e S T e R
21,  WRBEAT=25-22.26-73MRUST=9-6.5.7 & (A) 3200 qﬁm’famu
AT BURST =1 fifn =7 o fomif - €} 2900 (D} 3700
(A} 35-29-9-B<7 (B) 25-9-6-5.7
(D) 25-9-8-7-6 ‘;E’l/:_?-h-'ﬂ-ﬂa? 28, AR+ WA B - Fiad &« w4 By
4 v . : + ® Ag - ¢, F T fawm wl A o
i 1
2. UF IR W H TEMPORARY F1EPRSAYOYM' ) FRBIH T 1=12
HENCUSE %1 PGNVXP FrZ 1 formr = & 5t B 35—2+10=1x5=1¢
T I H  ASSURE' %1 53 fipd sy 2 Q) 3B+10-5+7x8=15
Al DY mﬂﬁ‘:'ﬁ""ﬂ-‘ M) 10=-124+2+30x1=10
_3' - {1-1,.1.3?_' I:D:I OXXYVE '
; 29, T A Y0 g A E g g
T i e ] i d .
3. RECOVERED 7= § wof & it fat 2 # For 4 E .?ﬁ‘m"ﬁjmmﬁ'“?mﬁ'mﬁm
TE T TE 95 5w oam f Ay it vt o s
gy - I 20 (B 30 () 40 ™ 10
(A) 79 Q) BE i )
i *‘Bj/ : C’ = 30. AR PROST F113245 % sOTUWV R 056871 Fifeq
L _ ﬁrffmimmmpﬂﬁmmm?
24 ﬁ@ﬁmﬁj?ﬁﬂﬂﬁﬂzﬁﬁﬂﬁﬁﬁ WA 59021 (B 69021
s 4 2 60 il /92 %5 7 & o o P (3 210% @) 95210
1 . D, et
S-J—H%mﬁﬁ.ﬁt:mzrﬁﬂﬁml e 5T | 3 et st & stamiorty = shife
= i I St 13*3%4%3 =4 EFB/
) 595 km/h (B) 80km/h (A} = x + =
(C) 5687 km/h (D) 571 km/h ik Sl
T W1 % fd T
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Directions : In question nos, 32 to 34, select the missing
number from the given responses.

a7 3 5 2
R 7 A

o n 4

f5 AN

A 50 {8 51 0 52 i) 49

43 .
H 5 36

[

L 4 ® 6 () 8 (©)

Be.- 35 17§ 4
32 40 %11
% 7 3

(A) 23 {81 34 ) a8 oy 26

35, Ram and Ravi ftart together from a point in opposite
direction on scooters. Ram’s speed is 21 km,/h and
Ravi's speed i515 km/ h. What will be the distance

between them after 20 minutes ! i
(A} 25 knr (B) 16km | J
i) A2km (D) 45 km

3. Une moming after sunrise, Gengadhar was walking
facing a pole. The shadow of the pole fell exactly to
his riglef, which direction was he facing ?

‘& South (B) West

(£} Morth (M East

Directions : In question nos. 37 and 38, one statement(s} is
followed by two conclusions/ Assumptions, 1 and 1. Y{pu
have to consider the statement(s) % be true, even if they
seemis) to be atvariance from commonly known facts: Yoo
hawve to decide which of the given conclusions / sssumphion,
if 3w, Follow ) from the oiven staternentsis)

37

48,

Staterent . RBead this notice before entasne into
the stadium

Assumption : L  Feopleare literare

II. Noblind person comes to
the stadium.

{A) Omly assumption 11 is implicit
{B) Meither I nor Il is implicit
€V Both Tand 11 are implicit

M Omly assumption 1is implicit

Statement: A car had driven off the road and hita
tree. Thee driver was etficient enough.
The read was noet good. The driver

drove the car for last fiftesn years.

Conclusion: L I The accident oocurred dee tobad
condition of road.

I. There was a nechanical faclt in

the car.
iA) Onby conclusion I 1s true
-;}I. ooth the conclusions can be true
{d‘l Mong of the conclusions can be true

fin Cinly conclusion Tis true

Hiow many trianglés are there in this figure &
Question figure :

A 12 B 14
{1 1607 moTe {Ch 10

|
I
| CY-2013/ Page6
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ki) s

P : 795 . 32 9 34 6 fow o frmei 6 4 o o 9w

ﬁ‘&w:mmrmaﬁﬁﬁmﬁmwnﬁ?

LH":*; S | Forerr/ i st =1 v g | e 11 vt 7 )
s You A A E T mee w0 % w34 g 9w
Splicin, 32 3 5 2 A ﬁﬂmmﬁg’mﬁl AT i s # T R
f 7 8 T frreme g A - S 6 Frf A ey
i into o1 4 T G G R o w owme F wle = 6
S 37, WA wie d u & e e ge |
R it (4} 50 Mi O 52 (D) 49 QA ;| i
11 : 1% o S =i sz 54 am)
B 3 E (A) A YT 1 s 7
A S (B) 1 e 1 5 7 €0 st
b : 4T 1 e e s
4 (B & < & Dy 2 ) e R 1 e §
nd hita
ol R T 38, WET: TEF A TIF B 9 UF 99 %) o OO0
Efﬂ 32 40 N B | R FR S 9| e A T8
S ot | AT g Tem Al & wn wmn
e by bad 26 : 3l i
Frewd: 1 zaz FEEEF
(425 B M oy 38 \,m/% o sl e 2
fault in M. %1 o 9 w0 i
. . (A) W e 11w F
35 T FN T U v v vy fagda et F T i
= &1 T 21 R s (B =T el 30 1 v £
i 15 Feal oz &) 20 fve ¥ g 3% e o (0 =d it Fresf w1t =8 & w8
o A g T e
23 fE 1 (B) 16T A1
3 JFuEs (L) 45 FF, 39, ¥ el i R e £
Iﬁaﬂ?ﬁl:
3, UF B owmEEm qEha § oam, e vR R S ]
T T O T W | WY 2 S I e
IR wEs tm Y e T w a
Kﬁm L {A) 12 (B} 14
(C) o 6 e o 10
3 T @ & fied we
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40,

41,

Form the correct pattern with the segments given.
Question Figure :

|ix 7 |
|Be

!LM A LEMZJ
() (B) © o

The following diagram represents people who
speak different languages.

{ii} English
{iv) Marathi

il Kannada
ity Hinadi
What does the shaded area respresents |

(A}  People who speak English and Hindi

(B) People who speak Rannada, English and
Hindi.

C3  People who speak Kannada, English and

htarathi.
{0  People who speak Kannada and English.

Which one of the following diagrams represents the
correct relationship with the Class teacher, Girls and
Borys of Skd, VIIT?

S

NS 2| @
® ||oo| @
@ B © o

45,

There are three intersecting circles representing
English knowing persons, sportsman and persons
whoare working as policeman. Different regions so
obtained in the figure are marked 1, 2. 3, 4, 5, b
and 7

— gy |

mgushknmm?{ 1J5], 'ay—votenm
ifmrscn h“‘|£-ﬁ &

a/—l:‘nm:emﬂn

b T

If vou select persons, who do not know English and
are not policeman, which of the region is to be
selected T

Ay 7 (B & T I a2

Directions ; [n question nos. 4 and 45, which answer figure
will cor-plete the pattern in the question figure 7
44,

Queston figure
[ - .-__,21
Answer figures:
A BY l &H ‘
S s = 1.
o et i = 1
h (Bl L] (e
Question figure :
1
e
Answer figures :
(] (B} [} )

SPACE FOR ROUGH WORK
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SEmENg

nersans g0, T=o TE wE | w2 g . 43, EE TF T ) 2 0 g S a e s,
e — et aih a3 0 # 1 w7 T =
] ] J.' "

1 zvlt #) angfy § w9 v & Al i oW
1,2,3,4,5 6 57 & =0 § e o &

E o |
= R
wasEm | A )
- TAT TR (6 x 2L
= . | T4 Term
— | R
ish and 5 ‘ ol e
-;fmhe ‘ ‘ ! | At Tfe =T U =l P E AT weee
| | fermet %1 & 1 foem D
Y 2 (A (B {c) S (A} 7 B 6 ey’ @2
wr figure Frdr : v A 44 S a5 0 B T st v st
3 41, Frafafan zaom o) =T = oo & = &5 T ETh?
AT HTA F |
i wg H)
fuay Ty :i'..r}‘l'-'.m
wreaTed A fard Tl B
i By
# rl % _Il !‘. .-._1.%. = | .--__1. 1
% SIS
| I | A || B “W Vi
= (A & = = wfiE ot B A E -
B = A w S R A AT (B (©) )
[ 3 =i W e i st e e B 45.  UYA HTHA :
v 2 =@ A w5 3 S0 S § .

3. Toafafms 3 s=-w7 =9am = v w1 wEn
e, el sl mewi E wh dEe S awim £ 7

< A

J E =
7R CY-2013/ F'Elg,-Eg 777 BN B



Direction : [n question nos. 46 and 47, from the given | 49, A word is represented by only one set of numbers as
answer figures, select the one inwhich the question figure [ given in any one of the alternatives. The sets of
is hidden fembeclded, numbers given in the altenatives are represented by
b, two classes of alphabets as i two matrices given
A,  Question figure: below. The columns and rows of Matrix | are
numbered from 0 to- 4 and that of Matrix 11 are
nurmbered from 5o % A letter from these matrices
L can be represented first by it row and next by its
==l column, e.g., "N’ can be represented by 43, 34, ehe,
= and ‘R’ can be represented by 97, 68 et Similarly,
you have to identify the set for the word given
Answer figures: ‘PRLO
- _.{-__ — ___: _.: ~ | Matrix - 1 Matrix - 11
P . Pl - ] olT1l2l3]4 [sia|{7]8]0
- "f"‘-b '?Hi 7 4 [K|L|MIN]Q 9| P QRS
- i LM E[O|N BiTISIQ(P|R
(4 {B) [rzit‘ (T 3 N|Oo|L[M[E ?;E??-Ql'
M N0 K| L 615 1L | R { O
PO K|NIL|M |5|l.__"'in’i__§_
47 Question figure :
e — 712, 16,36 ‘W95, 00,22, 44
"’Hj ! F,, ‘ (O} #8.33. 26,48 66, 21, 24, 25
- A If & o (& placed on bhe Tine MM, then which: of
Answer Figures the apswer figures t= the right image of the given
figmre *
1] Cuestion Digure :
=i d B
[ el I"i‘l
= o 3
() (D) Sl
48, A piece of paper Is folded and cut as shown below o E:3
in the question figures, From the given answer . ;- |
figures, indicate how it will appear when opened
Question figures :
{ ) (—, ““1 {%’/ ~| Tr "I' ' Answer figures :
b
Answer figures: ﬁ % %
: 3 W ‘ &ﬁ H 1_'_!.--!.
80830 O 30O (508D ot
- m—
(A) tE“J L~ o) W = @ o

SPACE FOR ROUGH WORK
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:“:-’:::"; Fron : W e g6 ot 47 6 ol m AT SA W | 29, o e AW um s g0 ww T S
it Iy o i w1 g famd v aph fafen £ T fasedi # A el ww  fom o #1 foedi 9
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41.

42.

43,

FOR VISUALL

[A) 58 (B) 62 (0 64 ) 56

In the colour scheme, if red stands for blue, bloe
stands for green, green stands for white, then what
15 the colour of the sky 7

(A} Green B Blue
(C) White D) Red

Anand ranks 15% in a class of 33 (tharty three). There
are five students below Vimala rank wise, How
many students are there between Anand and
Vimata 7
(A) 15

M 16

B 14 Q) 12

If SUMNDAY is coded as TVOYDA, how will you
code ACTIVE ?

CUIMWMTIAY - TVOY A then ACTIVE: ¥

Ay BDOUVIE (B} BDUVE!

() BDUIVE

(1 BOUEN

Six persons [ X LM A T standing in a circle facing
the centre of the circle, Lis betveen X and b, A iz
between M and T. X is between R and L, A &%
starding to the left of M and right of T. Who-is

standing next to f.?
(A) M | X Qo L oy A

Unscramble the following letters to frame a
meaningful word., Then find oul the correct
numerical position of the letters,

MNAT TONECET - H R

M R I
2 4 56 7 & 910111213

E
1 1
(&) 14257 369811101213
(B 21495310B61112713
) 911632E87512104131

M) 341562897 11121013

45,

46.

449,

50,

b2

Y HANDICAPPED CANDIDATES ONLY

If Y =2, GO =32, SHE = 49, then SOME = 7

Kam remembsers that his brother Laxman®s birthday
falls after 20 of August but befure 28t of ";..:r
while Devi remembers Luxraan's berthday falls
before 227 of August but after | 2% of Avigust. On
what date Laxman’s birthdav falls ?

(A) 217 August (B 2% Auprast

-

L 1‘?'"“.-".u3u==| () 20 Augost

Find the odd mumber from the following senes:

A3, X1, 44, 77
(&) 21 (B ad {3 77 {33
Lo e i the same Wy as harometer
L
Tra & £z every o hours, At the
informat sarnit that the train has lefi
the stat utes Before, 10 the Hime now is
11423 1at s the time for the next train ?
[AY 41D B 510 pm
L 450 (Y 443 om
| e the angrle betwesn two hands of a clock
(B) 45° [y Ay {0
How many 35 are there in the following sequence

which are neither preceded by b oo imimediately
d ka7

93IFAIFTAITRIIG6IV6TT

(A Twao {B}

Theee 00 Four oy Cine
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maEmA ot adm e s adant
Al R R M A s Y

{A) BT (B

(0 TR Dy T

& 3O fae £ 19 5 T § o= am feren &
AT ETEHE?
Ak 15 (B] 14 12 D} 16
A% SUNDAY F1 TVOYDA 572 § o st &
ACTIVE® R sz § S = 7
SUNDAY : TVOYDA T ACTIVE
(A} BDLVIE (B BIOLWVEL

BOUIVE M BOUEDN

i PR T A b e
L T >, =F —l-..IJ =1 =
g EEEE vFviEsa= A - ol

TRANER RIEELETE TR AsE
MR TSR AT ®, T FRaEn e
A} M B X A T A

4

T W1 T T 3 T e
qeErrs ot I s

1 =1 e |

i B

=
LI
o

| T 1 MBT EBE.AQD
4 [

B3

(A 142573649811 1012153
M 214953 10861112713
D11 6328751210414

I 3415628971112 1013

4hb.

&

44,

T W 3 T Ia v e w w20 smE
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12 775 o 9 ¥ o w1 =i ey e

(A} 2] ST (B I2 #ATE

|I-:::- LR = I:D]- 20 AT

TeTietan e o faeg w=m =1 9w st
33,21, ¥4, 77 '
(A) 21 (B) 44 ) 77 Dy 33
=0 77 9E w1 wEy wug 4 § 3 wwn i
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{A) TrgERE (By HrEHEHA
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TE: 530 T3 T 9 W w0 A - s
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(A (B} 43"

) 33 oy 75

el fem T TR SRt S TR 6% Ted
AN AH o i ww amw F7

H3663RE93TR91639639

(A) =T (B HF {0 =W Oy TH
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PART - B

GENERAL AWARENESS

The type of fruit oblained from a multicarpillary,
APOCATPOLS gV IeCinm is

[ oomposiie (5
My simple

aggregate
() moltiple

e threshold frequency is the frequency below
which :

(A} photocurrent increases with voltage
(B)  photo current decreases with voltage
7 photo electric emission is not possible

I photo current is constant

Sir C. V. Raman was awarded Nobel Prize for his
work o

““4) LightScattering (B Radioactivity
(0 Crvogenics D) Sonometer
Tesla is & unit of magnetic ;

{A) fAux #, induction
() moment (I  field
The percentage of carbon in cast mmon 15 ;

(A} 0.1toD25 (B} 0515
My Aos SR 1 B

The damage of the human body due to radiation
(%-rays or y-rays etc,) is measured in

(A Hems {1 Roentgen
{0 Cune ) Rads

The Minimum Support Price for food grains was
introsduced in the vear:

(A) 1944 (B)
() 1974 ()

19%4 -
1954

Total assembly segments in Delhi are:
(A} 50 B 60 2 70 (D) 40

CY-2013/Pageld

(=11

a

Lils

Transition ions absorb light in
(A) imfrared region o
() microwave region LY

ultraviolet region
visible reglon

¥irtually treeless, sparse vegetation is found in !
[A) Taiga {B}
(7 Tundra L

Alpine
Chapparal

Flywheeel is an important part of a steam engine
because it :

iA) accelerates the speed of the engine

(81 helps the engine in keeping the speed uniform
7 decreases the moment of inertia

(LY gives strength to the engine

Sl factors are oiherwise kniown as

{4) Edsohx foctor

(B B e it

"y Phyvsiorrandd tis

(B Chrmabs fachors

Who benefits the most durnng the inflationary
period ?

I
(A} coppotabe Servants
B ceditors

) entrepreneurs

(L government servants

Which »f the following does not have a Stupa ?
(4) Panchi (B Sanchi
fc) darhut I Dhamek

The pla 's. which grow onder water stress)
conditions of deserts are:

i4) Epiphytes w Xerophytes

(T Heliophytes 0 Sciophytes

Coupling 2nd repulsion are the two states of :
iA) linkage ye

{2 mctation (L

chiasma
CIOSSING OVET

The fre zing point of fresh wateris .
(" P B ¥C O SC O C

777TRN B
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[A) 1944 w1964

Q) 1974 Dy 1554

faeetl f % fopw) fauraw o €7

IA) 50 (B) 60 .L;?j'/ 700 (D) 40
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{A) HEETm (B) =TT (IR )
(€ wiEE o fafe
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tarmens are fused with each other by their anthers
and also with the petals in :

(A} Legummosare B Liliaoeas
(€} Compositae . (B} Euphorbiaceae

Deficiency of inon causes :
(M) Coitre
() Rickets

(B Folio
@ Scarvy

Which of the following boeks 5 not written by
Jawaharlal Mehru 7

(A} Discovery of Ind:ia

[Br My Experiments with Truth

) An Autobicgraphy
() Glimpses of World History

"Democratic Centralism” is an important feature of
ac

(A Communist state B Democratic state
03 Totalitartan state iy Socialist state

The Constitution of India, describes India as:
(Ay A Federation B Aguasi-federal
{0 Linitary %  Unionof states

"Shadow Cabened 15 the featiee of Admsinistrative
system of -

iAF Dritain B USA
21 France i Japan

Which National Highway is called Shershah Suri
Marg ?

{A) Mational Highway Mo 3
(B} Mational Highway No: 8
() ™atonal Highway No: 7
™ MNational Highway Mo 21

Which of the followings is not cormect 7

[(A) MAA - National Monuments Authority
(B) PIL Public Interest Litigation

#7  NOT - Mational Growth Tribunal

(L MSP - Mimum Support Price

CY-2013/ Pagel6

7hy

B,

R

H"l

53

« (£} Spanish

An rpease in the quantity supplied sugrests :
1*, alefbward shift of the supply curve

(B) amovement apalong the supply curve

[} amovement down along the supply curve
(L arightward shift of the supply curve

Who was the Delhi Sultan to impose Jizva even on
the Brahmins ?

(A) Ala-ud-din Khilji «, (B} ¥z Tughlug

L} Muhammad Tughlug ™ salban
Dactylogram is related with

(A} beleprinter # perumbulator
() cersals {10 finger print

Which body 15 constituted by the President of India
o adwize on the decision of Central Resources
between the cenire and the stafe 7

(A} Tariff Corrnission

B Foance Commissior

(L Planning Commission

M Taxatlon Enquiry Commusson

"Eydet Cup” is awarded to the plaversof
(4] Baseball BY Baszketball
i} Cards FH  Golf

The site of birth [natwiry| of Gautam Buddha is

, 1 ke by

B 2" Rummindei Pillar” of Ashok Maurya
[} a=tatue

[ aPeepal Tree

Freparation of butter, ghee by a hoosehold for their
W Use i5 & part of |

(4} own-account production

(B howsehald capital formation

iC) yrdustrial production

T3 consumption

Potato was introdoced to Europe by
(A) Portuguese B Germans
™, Dutch

I'he current spell of cold wave in the US has been a
fall o _ che:
. polarvortex
(B biodiversity and habitats
(C] climate and energy
(DY political administration

- 777RNB |
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b Leaves {B)

“krishi Karman Award” 2012-13 for all imerecord | 9. Inrelation to the State Government, local government

-in food grain production was given to;
(A} Madhya Pradesh 7§ Haryana
() Tamil Nadu ¥ Oxisha

Consumer Peotection Act T986, wies amended in -
(A) 1992 (B) 1993 &F 1994 (D) 1991

The compound that has the least value for octane
numberds

P 2 - methyl heptane B lso-octane
{C) 2,2-dimethyl hexane (D} n-heptane
The unsruf noise pollution (level) is:

(A decibel (B} decimal

T} ppm {0  Mome of the above

Which one of the following is wsed as secondary
storage system in computer ?

(A RAM (B
{C) EPROM :

Floppy
©  ROM

Where does the cabbage store tood 7
Sbern
{0 Fruit {0} Root

Who among the following is the founder of the
*Azad Hind Fauj” ?

(A ¥ La Har Daval

(I’ ubash Chandra Bose
(1 VirSavarkar

(I Chandrashekhar Azad

The production, marketing. storage, advertisement
and consumption of smokeless tobacco s banned
in:

{A) Assam
-} Magaland

(B)  Armunachal Pradesh
Y  Meghalaya

The pair of compounds used as anaesthetic in
medicines :

(A} Ether, Ammonia

B Mitrows oxide, Chloroform

(&) 7 hloroform, Nitrogen dioxide

I MNitrogen didxdde, ether

CY-2013/Pagels

aE

.

b

ENETCISES |

{A) Co-ordinate Authority
(B} Delegated Authority
{C) “aperior Authority
) Independent Authority

Study of organisms in relation to their environment
is called :
» Ecology B) Loology

{0 Entomology D Palynology
Who is known as= the Father of 'Indian Unrnest” ?
{A) Bal Gangadhar Tilak

M calalajpat Ra

() Avurebindo Ghosh

(D) Bipin Chandrapai

-Dbsidian, Andesite, Gabbro and Peradite are !
[ntrugive rocks
Extrusive rocks

(A} Metamarphic rocks @
(O Sedimentary rocks (D)

Who said that “'Where there is no Law there will not
be Liberty” ?

(A) Karl Marx R
(Ch Machiavelli (¥

Flato
Tokin Locke

The UNIX operating svstem is suitable for :
A) Multiuser

(B) Real-Time Processin

() Dhstributed Proces: ne

i} Single user

1. Section of IPC, which deals with LGBT (Leshian, .

Caay, Bisesual and Transgender) compnunity 15
ol i By 576
iy 370 ([} Noneof these

777 BN B
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PART - C

QUANTITATIVE APTITUDE

If the sidgof a square is reduced by 3%, its area
will be peduced by

(A T5% (B BO% (O 60% (D) 50 %
Two triangles ABC and POR are congruent. If the
arca of AABC is 60 sq. cm , then area of ATOR will
bE"

{  6lsg.cm
() 15sg.cm

(B} 305q. om
() 120 sq. cm

The least number which must be added to 1726 to
make it a perfect square is

(A) 36

(B) 32 v 38 ™3

Far a triangle ABC, I and E are two points on AB

1 5
and AC such that AD = %AH, AE= :iM_' If

BC=12cmthen DE is:

[A) 3cm By 4cm 3 “3cm iy Bem
iMtan = -cotfh=2then the value of 115
SRy 45T (B &0 () W (D} Ar

Fhe term to be added ta 12127 + 6407 to make a

perfectsquarne is:
(A 176 ab (B} 276 a'h
{C) 178 ab {7 188 b2a

A gan do a piece of work in 6 days, B in 10daysand
Cin 15 days, They jointly complete the work and

earn T 300, Thesamof their .ages for I davsis:
{A) ¥ 180 i T200
(0} T 160 (D) T 120

Asum of T 76 s divided among A, B, € insuch a
way that A gets ¥ 7 more than that what B gets and
B gets T 6 more than what C gets, The ratio of their
shares is :

Ay 19: 24133 m,
[E) 322420

Fa . das 1
oy 19:25:33

+

m

1:2

1%

1

s

{f". equilateral

[f the opposite sides of & quadrilateral and also its
diar maals are equal, then each of the angle of the
g . rilateralis:

J 9 B 120° (O 100F (D) &0°

If cos =x = X — ¥ + %,meualueufxwﬂlbe:

(A D |\ 1
[ R | 0 Mome of the above

A tank 20 m long, 30 m broad and 12 m deepis dug
in & field 1000 m long and 30 m wide. By how much
will the level of the field rise if the earth dug out of
the tar - is evenly spread over the field ?

(A1 2m B 1.2 m

") 05m " 5m :

Irwa brinnigie, iF ortbocentre, Crdumcentee, moenkre
and certroid coincide, then the triangle must be :

(Al dseangled (B} dsosceles
(I right -angled

I a=3= %, then tl1-“naluﬁnf[“ + a_gJis:

(& 12 Foaf ) 16 o 10

For what walug (5) of E the expression

-

H
';' -

P KT saperfect square T

& |

!

I‘\-J||-|

1 I 1
@ =z @ T Ty @

1f 13% co¥'is same as 20% of y then x syis:

(AY 23 (B) 5:4 8 B o) 3:4
i ) _b-

Hb B A . =1 and a-b+c= 0
a b

then which one of the following relation is true 7 Ig
g Ly j ES '

{ e e

(Al a b a b
1 1 | 1 1 1

¥ e == | — = — — + =

i ©) - B B~

SPACE FOR ROUGH WORK
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=f A T qW w50 W o fe o W e | w0, of fe wdE w1 a-wme w0 O AR s
s faa w8 o 7 e s e W, @ endE W v R feaa
75% (B BD% (O 0% (D) 50% Fm 7
J.ﬂ/*il[r" M| 124 0 100° oy &0°
= % e ABC o PQR TEm ¥ uft assCh
G 60 sg. em %, T APQR 1 S 0 SN2 | 130, A cos me = = x4 A A 0L
JA) 60ag. cm {B) 30sg.cm Al 0 B 1
{$ 15sg.cm ([ 120sg.cm 4 (8) . ;
o) -1 B S H e
o g o e i fere 1o F Wl o wveft atferd | 110 1000 WL R A 30 € fem F v g0 9, W
=AY HE T | 30T = afv 12 men B w w9 fee
dg.af"'iu (B 32 0 38 oy 30 i F i mr e d e R IEm A
A ; e g o
. Pogw ABCE AU AB R AC T DN E oy 58 v (A) 270, ® 12 1,
, S
1 AD= [ AB AE = - ACH) ARBC=12cm & 05, o) 5.
# DF FEr 5 ¢ 12 vF fay= § giz v s, e, winhE g i dew
{A) Sem (B} 4om ._;ETffmn (@) fem w1, 7 e e e
(A) s (H Tl
105 AR tan B +cot h=271 4 F1 T TN (o T (D) RO
ay45° (B} & o en® oy 307 1
13 #Ma=24 7 a + 5 FEmsmEm:
e, ol g =T W 12040+ edb? D e g7 - i
JAT 176 ab B 276 a3 b 2 o e Bl
5 ah AR 114, K ¥ 7 59 & fom |:+% Jp + K* st
T ATESERefR AT OET R BT T o | T w R
CIsfaAfisasa e SATH =0 R FE T 1 P -3 Al o
S T 300w B 2 fe w1 T gand W AW ey o NE =g ““E{ii O =3
UL ¢ - 115, ATz 31 15% y % 20% ¥ wrwe ¥ ;%0 M7
LA] T 180 B T 200 ._H)/:.a M 5:4 (O 6:5 (D) 3:4
Q) T160 D) T120 : ;
116, I — "—:—Wi? =1 #fta~b+ca0d
WS TR F AT A, B, C T wEn Taufen £ o & e > . .
% el h:h'-ﬂ |Eﬂﬁ- - TH Y 3
AFBET 7 wiys farm E AMBE R CH 2o wiE S ﬂ]ﬁq nw ]mfm :
5 | 3 9 ST A descit iTeedn
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% w= & A W
FEX-2013 /Pagel] 777 BN B



117, A train crosses a platorm in 30 secot wds traveldling l 124 Onwhat sum of money will the difference between
with a speed of 6 km If the length of the train be 5.1 and C.I for 2 years at 3% per annuim be egual to
WYY rietres, then the? yeth (mmetros)of the platforon S )
is7 Ay 000 {# 10,300
(A 200 300 () 200 T 5400 {5 9,500 () 9,000
4 lEAFGH is isosceles and FG < 32 m, GH = B om, then 125 InAABL, f‘?‘_“ 90" and AB : BC=2: 1. Thevalue of
of U following, the true relation 5. sn A +ootCis:
£ GH=FH @ GF=GH ¥ . 4+ 45
iy FH=>GH Dy CH=GF A} 3+45 ' 2.5
@ 2443 DF 343
4. The numerical valus of 9 T N
o |- R St 1 b 176 Anand marks up the price of an articie by 50°% andd
e 6 sin® 65 ; then allows a discount of 20% snd selisitio Balaji.
) Balaji sells it for T 20 more than what e purchased
T} =
A 4 i € -1 @ 0 for, this 5.7 15 30% mone than the original C.1 of the
article. * hen Balaji's profit s
M. Aand Btogether can complete ajobin A olivs, Both (A =% (B} BB
B and O, working alone can finish the saie job in iy 8.33% o 9%
12 daws. Aand Bcommence work on the job, and
works for 4 days, whereupon A [eaves, Boohtinues | = The misipmam numbers of common tangents drawi |
for 2more days. ansl then leaves too. © now starts st cirches when both the circle touches externally 1
working, and finishes the job. How many days did | : s v
C reguir ? (&)1 2 iy 3 i o
(&) B B o 3 (D 4
. = 1§ out of 10 selected students fer an ey amination,
: vareof X vears dze 4ol 2L andS ol 22 yaars, the
1 f R o e, oy ¥ Fhar =0
¥ I y = 3 + 42 thenthe valueol X = 3 s oo i -
- (A) 12 ye=is L Vears
(A) 1042 TSR W i o i
(C) 2242 @ 82 129 A cistern normally takes 10 hiours 10 be filled by &
tap. But because of a leak it takes 2 hours more. o
132 What I8 the produet of the racts of the equation how many hours will the leak empty a full cistem?
o - X (A 45 By =5 )20 L ol
X \.'_1 = u? - !
(A = B 3l Ju arrive at vour school 5 nyinutes late if you walk
it - - with a speed of 4 km,/h, but you arrive 10 minutes
O =3t P ] hefore the scheduled time i you walk with a speed
- of 5 km /. The distance of your school from your
howes (i kmy) is:
cos b ozl (Al 4 B 3 iy 1 ﬂj:l Lk
| el |- g 18 equal to
1—sintd I+ snk
. | 177 1 2 b, c.d. e are five comsecutive odd numbers, their
] - o=
t&} P | ﬂ,:'. ; i\ average iss
: abode
1 i (A} Sla+4) e
L g B T ,
r+1 | Gy Sia+ be+c+d+el h a+4
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m 0
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2 years, the

e filled by 6}
i1 mate. ind
Full cisterm 3
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if yon walk
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vith a apeed
| from your
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rribers, thedd

T U 60 T s i e e e

= e

i

A 30 Fe # Tt &) ufy TevE) w5 ward 200 g
7 e W et (e H) P &

(A} 400 300 {C) 200 Y 500
f% ARGH =afaamg # 4 FG < 3om, GH =8 cm 91
1 HE Taw =y w7
GH=FH (B) GF=GH
) FH>GH (D) CH=GF
'F+—ﬂil — —mact I 4 — 1 — cosoct 270
cot™ &3° sin” &3
(A) 1 By 2 G =1 M

AdRpirTE FE s S e ) B
A ¢ 2Rl st = = vE e S e d o
FEE ) AMBTR E T i a e e 5
A ¥ THE AE A FE g Eam ) B2 fe s w
O W ¥ o fRr aw o gre tm o am cownd
=M I Hn & s w o s Em ) s e

fo mi
JBI’E/

(A} 5 (B &
Mex=E+2M " — L FEwnem?
%

3

—-—-—-—l-|

77 BN

&F :

124.

125,

126.

127.

128,

129,

270 % fe 5% wfr o 1 e = o wwtn
mtﬁﬁmfmﬂmtrmtlﬁzﬁj-ﬁ?w

a2
Mﬂ.ﬂtm

<) 9,500

B 10,500
() %000

AABCH, £B=90 3 AR BC=2:1, 5in A +cot C

Eakopk - o

. +4J5
(A} 345 \.CBV’ZE—“."E-
Q9 2445 ™ 35

AT T T F g F50% 7% e wam & o
fiet 20% 1 gz ¥m & o 39 s | i
HETE T WIS w0 @ T 20 i § i #
E Fiel ST Ty Ft @ wW FeE ¥ 0% s
T OWETAT R Y % o E Y

E’%ﬂ (B) 6.66%
3%

o) 9%
= T W, T DA g9 A & e wed o, we
I ST HE P wi
B 2 0 3 Dy 0
ﬂﬁﬁ?ﬁqﬂﬂjﬂ?fﬁ'ﬁaﬁﬂqlﬂmﬁﬁﬁﬁm
WMF I FL 4ol drasmnad

WY % @ i w el sy e it
{A) 2294 21 94
(€ 21594 Y 207

TEHEA R WA W e TR EE
A o B0 & wm s 2w s wE

1R 6.8 I 5
&}#; Pd A0k 1 T T o 0 o e fa o e @
ST 2242 ) 842 AT 7
> ~ (A) 45 (B 48 ([0 30 @60
-Pm:i—ﬁ?+1ﬂ7{ﬁm![ﬂ1ﬂmﬁmmﬂm? 130. =fr A9 4 T, v =1y & =o€ o gl o
£ o3 ::E_] J3i L 51-“1??%#%?% 'ﬂfx‘.’ﬂﬂﬁfﬁ?ﬁfﬁ‘ﬂﬂﬁ
L . T G we T s it amm A 1o e vl
v =3 TS W B AE WA AnE e w1
|1"-£.ﬁr.1'?".lfﬂi;ﬁ/§;
. O 1 (A) 4
; 1—ﬂ;12ﬂ*miiﬂh'ﬂn e LT €1 } i i by
sin 131 T, b,c, d, o W HOF form e # 4 35 sfm
g \.FBf/f . A7 . '
1]
1 o (A) S{a+4) (B abfde
1 _"T I YT ) Sla+b+o+d+e) W’Eﬁ
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a, 1
1% If x = & =1 then the value of —-11.._ is:
X 3yt +5¢ =3
1 ) E "
133. [Ifsim Z—I = y*—2x + 2, then the value of xis :
(A 0 Br 1
oy -1 ) none of these
1 i
-
134 The value of S"I.I‘AEII',,- + - — Beus 608
cogf7 Sﬁl’ﬂ
(Al 4 ® 1 Q2 o -1
¥in  Which is the largest of the following fractions ?
23 81 '
[ R RS J
8 3 u 2
1 1 (B 5 <) 17 F'I.'DII
g

136. A shopkeeper marks his goods $0% above the cost
price, He allows a discount of 5% for cash payment
to his customers. He receives T 1064 after pn}rmg

the digeount, His profitis
(A T 264 B 2 164
(G T 200 o) < B0
137. Fhe angle subtended by a chord at its centre is 607
then the ratio between chord and radius is:
(A) 12 B 1:1
© ) 2:1

J211

L

138 IFx+y=15then{r—10)* + (y=5)is:

(&) 25 (B 125 {Q 625 <D0

If goods be purchased for T 450 and one third sold
at aloss of 10%. At what gain percent should the
remainder be sold 50 as to gain 20% on the whele

'\.

1

g

140.

-

141.

it _&BC is ‘an equilateral traargle and P QL R
respect’” Bly denate the middle pomis of AB, BC, CA
ther .

(A PORwmust be an equilsses
. {8} PO+QR+PR=AB
Q) PO+QR+FR=2A0
([ POR mustbea fdght asges =

E TRED .._..I':'

o+,

=) H'E

A rnan saves T 25 on the
fwhich a discount of 20
did the man pay 7

{a) 75

Wy T 100

-

< ar article on
How much

'.I [R1)

A2 Area of the floor of 3 cubes see = 43 si.m. The

fength of the longest rod e e be kept in that

IO 15
L {A) Om B 12Zm & B= D) ém
" = i r
142 The cost of a hogse s T X s = 2005 Atter
.3'1."11'&|'ﬂ u‘fmﬁ-"l"rEl’l:\fm: e C '::-"' u ITore

{ The graph shows the result of

than she paid it. But she has % pee 5 20 of 30% of
the gain, The tax Anatunt she S e
(A) Xf2 ™ X/B L

P

I X%/

182 s srondents of a

school for 4 years, St ' “>= =% 222 answer
Mo, 144 to 147,
=
| . S
{E % c-E-
“’5 IUE = e F L
= . Doiun
| § 5 =
I_:l 44 : = 8 D cike
P [ A =
1 =
e =
o
A |
§
L) - o !
148 The number of students appesses sor e 107 class
exam in the year 201 is
(&) 180 By 195 ) =N ) 120
145 The percentage increase of first s = T ear 2003

transaction 7 over the vear 2002 uappn:mmn-
(A) 32% (B) 33% (O 8% @ 0% | (A) 12%  {Br 0% G 1 9%
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132

134,

135,

1
1 Xt = )
1 —-=1ﬁ'r_j_zmm=rwm?
x 3x" +5z—3
1 UL
v o mT ©5 mo
== sin 1—T_J:r=.t2—2x + 2 A o 9 =N Em 7
= -
1A} 0 ] 1
o -1 Dy =9 A wE T
sin 33 | 08 1Y g cosden® w1 T FART
-:-:wa-1;_ 5in 71°
(gl @ 1 @ 2 @ -1
TrieiEs & 2 vy o T we-dT # 7
Lo, & A
LR TR
"1
wE wml o ol

140,

141.

142.

143.

gft ABCTF TuyEE e # S P, Q, RFEE: AR,
BC, CA % weg fegai =i 2o ¥ |
A PQR T g Em
(B) PO+QR+FR=AB
() PO+QR+PR=2AB
(D) POR Ty fas &
U =i TR ] wiE WA W20 B g 6
T ¥, ¥ 25 oA w0 £ 99 =t 1 fEew
ITAH FIAT 9 Y
(&) T75 (B %150

100 D) T125
TF WATRR 61 T T W AAEE AR TN R 3
w7 Y el wEn wowed we vy (fE) wmwm
Tt £ 7
@) 9. B T2 © 18 @ e
U W R AN 2005 H ¥ X F0E €11 399 4

M WIfers 5 36 A 70 H 25% AiE Woaw
i T AfwEy w1 oS0 w8 W R W
nfer &+t €t 7 .
(A) X/2 BrN/8

O X/4 (D) X/24

136, TF THAGH T TF W ARG FEG W 40% FOEF | e 10w & wrei o 4 9 w1 e afrons 2w
woe R W B T v ORI W TR T | T R e Fan T a1 R 147 T H I
w55 FT g w ) wE oR = e 38 T 1064 e | i
g --.-?F‘-I':'l-TT:FIT-' = —_ ——

L T 264 B2 164 e S——
[} -3 ri & & =T 7=
—_— = E— 88— &

137, FEE s s sTarts s ST F 5 R - 10
1 T 4 — i — i
A 1:2 @i 51 [y 2-1 '=£-“‘ ;1‘:::__—_;5— N

et

138, A x+y=15M{z-100 + (v—37 TP 7 E: ::m |
{(A) 25 By 125 (0625 JEfO S R - B

o 144 mmnﬂn~nuﬁ"arwmﬁwﬁamaﬁm
139, =fg A T 450 5 =9 T 8 TEE | 0 R 10 T ;
Wi W W = I e e s 4 180 B 195 (O 200 (D) 120
it T = R g e W 20 1 Aivem e .
& T ¥ : 145, =9 20025 T | 99 2003 W 9aw i f wlavw gfz
e ol T ;
W 32% @ BN (O B (O30 (A) 12%  BrO0% @) 0% (D) 9%
TF @14 = v 78
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146, The yearin which the maximum number of students

. appeared for the L Class exan

@Wrom @ 202 ©

115

20603

Ly 2000

FOR VISUALLY HANDICAPPED
CANDIDATES ONLY

144, Find the odd owt of the foll 2 5ot of numbers
l 15,20, 27, 32, 39, 40);
. e &
147, The ratioof studer - scored secotud class to the total o R {8 27 L 1
student appeared in the year 2000 is ;
(A) ¥ 16 B 4:17 145, If x=2 y=4, p=8.1 the value of
94 5:16 o 11:16 J e SN
pP— ¥
!
(A) 26 (B a2 2 (¥ 30
Study the diagram and answer Q. No. 148 to 150. L
146. The average weight = 6] kg, The
— average weight of men = = Eof the ladies
oo Er— l i 30 kg, The numbse:
w0 |/ (A) 70 (B 7s Iy 50
Ha; e _:-:- 0 Food
] N 7 2] A Clothing 147, Onowhat sam of mons £ tnterest bor
£l I1-.| '_! & - Education 3 years at 8% per annu compoiind
!‘al_ [' - —. ~ Fuel interest n_n 400 for 2 ST
| & iy (i 1 House rent (A) T175
|74 M |||| W Miscellaneous Q) T5
| _ , .
| | i'|' III|
|-_ - | 4 148, In45kitre of phenoi-wats water
B A L P % 2:23, The amount s «ided
| _ Pamily - L by it to rmakes the rat
(AY 3 litre
148  If the total annual expenditure of family B is ) Elitre
710,000 then_money spent on clothes during the
e 149. [n a right angled triang d b and
(A) T 600 (B) T 6000 .- hypotenuse ¢ if the alss s 52
C Eruan
() ® 1500 [ T 200"
ab
LAY — =2 -
149.. What fraction of the total expenditure is spent on
Education in family A ? i3 Ay _]; =
.\. E " I-'l- B -
(A) 2/3 ® 9/13 (G 1/5 () 13/20 5 X
150, The selling price of 12 &
150. If the total annual expenditure of family A is price of 15 articles
¥ 30,000 then money spent on food, clothes and (A% 20%
houserent is
‘(A T 18,000 T 21,000 el ik
{0 T15000 D) *.18,500
SPACE FOR ROUGH WORK
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144,

147,

T =E ° 10 5wt wian o urs sifieay e
T IOE B ?

v"'/ 2001

T 2000 T ImeE i dvit wma w0 A= et g
4 3:16

LY 518

B 2002 () 2003 (D) 2000

By 4:17
D} 11:16

ETOUT TR WETTE Tl AT uys |, 148 § 150 7% W

T

144,

144,

150,

[] ||
=S — ;
v B
H Bl
e R T D a9
et o HE |
P e . n T I
- = T faTm
i = fufaw
| 1|
|| el il
(1] 5 |+ ]
e el |
T T B w5 A S 0,000 F, A A
e T W I wen i e s
(&) T B Tao00  [Noaks
{0} R 1500 T R
AR A e T s e e o as 5

o & 7
{A) 2/3 (B} 9/13

Jer1/s ) 13/20

T IR AT FE AT ST 30,000 & 9 =
= fmmEE R men e o e w6
(B ¥ 21,000

3 T 15000 D) T 18,500

A T IR0

144,

145,

146,

147.

14a,

145,

15, 20, 27, 32, 39, 405 & Freieiey e 4 fang
= 2w

(A 40 (B 27 i L th 15
'-'Jlf?. :=2. ;r:{l F'_'B- -;_'|=1|_|-I =.'T
_— 2y
J TP T o 20 e
B L
{A] 26 {B} 32 (O 24 (I 30

150 FTHT 1 0 T 60 TR ¥ o gt
A v &0 Fem o wfemei = 50 fEm £
HieEna =1 Fen F e b7

(A} 70 B 78 (@ 100 (D) 50

fera1 T &% wimed =127 w3 = =
ST 10% TS = S W 25 W 400 W AE5TiS
ST T AT RO 2
[A] TI75
2} % 205

(B) T195
(D) 2165

Torfe o ot o 45 T e | ety o ot
AR 2, 23R 3237 % 7m0 e e

(A 3fe=m (B 5fF=
iy 2= iy 4=

x T b ot e o w0 A wewmE fagw A, 4z
w7 W TEE & T

ab
3 e T
Aj — =3 (B a7 +b =2y
LS
T
Q@ T a2 T @ ab=2

L2 SEE F R S 15 T s w1 A @
= &1 Aty sfe feam 2

(Al 20% (B 25%

>
(& 80% ) 65%

™ = ¥ e o
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PART - D
ENGLISH COMPREHENSION

Directions : In Cuestion nos. 151 o155, some parts of the
semtences have errors and some are correct. Find out which
part of a sentence has an error and blacken the
oval [«] corresponding to the appropriate letter (A, B, C).
If a sentence is free from error, blacken the owval
corresponding to (D) in the Answer Sheet,

151, Afber tasting both / Iohn prefers/

{A) (B
mﬁ;&fﬂnﬁm
(D)

Loved /the dra” gs/
(4) )

HJEWIHQ%&L

Suddenly they saw a car coming /
(A

ata break neck speed. /
(B)

An old man were crossing the g.pﬁ at the zebra

crossing. / No error.
< )

5L

153,

| sprained my ankle / when [ was/
LAY (B

playing baskethall. / Nﬁi{
(<) |

Itis time
(A)

155,

and as partpers in the task of building a strongand
united © pon. / Neerror.
A (o}

CY-2013/Pagel8

) ‘Lai,

Directions : In Question nos, 130 to 160, sentences are given
with blanks to be filled in with an appropriate word(s).
Four alternatives are suggested for each question. Choose
the correct alternative out of the four and indicate it by
Mackening the appropriabe oval [ & | in the Answer Sheet,

156. Leila said the new restaurant was nothing to write
aboul She thought it was
Jast average

Q) splendid

(B) really terrible
(B excellent

My Nigerian friend, Fela is having trouble finding
work here in Lomdon, but he savs if pushcomes to
shove he can always

(A) gotojail

(B} winthe lottery

(C) end of the journey that is life
\.‘.B./:,"D baclk to Nigeria

| i38  1f you sav to someone “You're so full of yourself”

the'l probably fes] .
.‘,F!‘/-J‘.'“-'-c‘! s B plezsed
i) <aim 5 proud
1. The archer miszed the by an imch.
(A scove (B} point
i0) blow u}-"”.{'_r".

Bob and Jane decided 2o tie the knot because

M ey loved one anothet

{B) thev needed to save mones

{C) they wanted to makea long rops
(I} ithad come undone

Drirections : In Cuestion nos. 161 to 163, out of the four
alternatives, choose the one which best expresses the
meaning of the given word and mark it in the Answer Sheet,

191, CREDIBLE;

{A) charming {B) serious
(C-Felievable D) worths
152, EXTRICATE:
Froe B} Tie
" O Complicate (0¥ Pall

777 RN 8



Ve
i(s),
51
t by
et

Tite

5 by

Lo

ur
e

1‘?‘ COBSTEEPEROS
._y\('-/-' Lnruly

0 Awkwand

(B) Lazy
I Sullen

Directions : In Question nos, 164 to 166, choose the word
opposite in meaning to the given word and mark it in the
Answe Sheet.

Thd  ACCHNT:
[A) despair 1B} mild
[} -srmart ~J}].',)}""'-lu_-':_unu:Evr:'ruﬂrn

167 DISSEMT:
A} discord
(T} wunacceplable

(B) disagreement
J»Eﬁgmement

166, GROUFP;
(A) sinsular B individual
QY alone solitary

Directions : [n Questions Mo, 167 1o 171, four alternatives
are given for the [dfom/ Phrase undertined in the sentence.
Lhoose the alternative which best expresses the meaning
of the Idiom/ Phrase and mark it in the Answer Sheet.

167, After his business failed, he had to work very hard
bo ke the wolf from the door
WZ.E'EI:";I away extreme poverty
(B} earn an honest living
(0} regaimn his lost position

N defind frorm eremmies

168. The mention of her former husband’s name still
makiss Rits foam at the mrouth
¥ angry (B} womit
{0 shy D) fall sack
169,  We must hushand our peseurces against hard Himes.
LAF save (Bl support
i} sing (D concede i

70, The newly elected Chief Minister has promised to
cring about changes in the state

<) produce Ty ke

) Eamy Mu:irh- happen
171. Hegave ventiohis pleasure with a smile.

Al Zhared (B alloswed

o sxpressed (M enjoved

Directions : In Cuestion nos. 172 to 181, a sentence,’ a part
of the sentence is underlined. Below are given alternatives
to the underlined part at (A}, (B), () which may improve
the sentence. Choose the correct alternative. In case no
impravement is needed vour answer is (D). Mark your
answerin the Answer Sheet,

174 Then with all his loot he sailed inwards Scotland’s

shore.
anards

D) Noimprovement

(A) onwards
[} forward

173, Canyou please give me some leave ?

Mram e

(" Mo improvement

{A) grant for me
() grant from me

174 The office is soon to be closed.

(A} Just to \{B}""";bnultﬂ
() whereto Lt Noimprovernent

178 The teacher was very proficient in his subject.

(A) expert -IB}"'-E'-L‘]] viersed
(0 proficient {0} Mo improvement

y76.  He tound a wooden chair that has broken in the
PO,

{A4) wooden and broken chagr
{8 vroken wooden chair

Q) broken and wooden chair
i Mo improvement

(77, The robbers fled before the police came

‘)M/.-‘lrrjwﬂ

<7 pad come

B were coming

.o )
([ Mo improvement ;'j. a

178 The hosts were taken aback when many guests whao
1 fnvied did not turn up for the party.
.plﬂ/ha..{ been invited (B had invited "*’
[ was invited {}-’ﬁuimpmm&em

179 The master aimed a blow to Olivers head with the
ladle.

(AY athrow at

Mblm-.' at

(B) -a punch in
D} MNoimprovement
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180. The athletes who have won prizes ate being
honoured

{Al The prize winning athletes

(B) The athletes who are given prizes

we athletes who are winning prizes
™

o improvement

151. Mmrmrncampuupkmmﬂw.
iA) fromplace to place
(B} about the place
{C) formavel

Mn improvement

Directions : In Question nos. 182 to 188, out of the four
alternatives, choose the one which can be substituted for
the given words,/ sertences and indicate it by blackening
the appropriate oval | & | in the Answer Sheet.

183 Ane:_-ctrartfmmabunknfwriting:
A Excerpt (B} Rewview
() Footmole D} Preface

183,  One living on vegetables:
A e getarian (B) herbivore

i) carmivorne ([ barbarian

184. A person who supparts or speaks in favour of

something :
JM'/- advocate {B) assistance
(O adviser T wolanbeer
¥85.  The firing of many guns at the same time to mark an
pecasion |
£ fusiliade o
iC) attack (D) volley

o BB, A word that reads the same backwards as

forwards |
(A} acrostic

{0 acronym

(B homophone

Malinﬁvm

Wy, A personwho is self-centred :
(s egoist (B} ™ asochist

{C) mnarcissist . eccentric

CY-2013/ Page30
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188. A principle or standard by which anything is or

can bejudged
{A) manifesto (B} copvright
()} epitome (B criterion

Directions : In Question nos. 189 and 190, four words are
given in each question, out of which only one word is
correctly spelt. Find the correctly spelt word and mark vour
ANEWET in the Answer Shieet.

197 |

Posgession (B Possesian

() Posseseon {C Fosessian

19" A} Immakulate 1h|:,l3-';-‘"I‘-n.'l.rn:'a’t.-.’.u’.aﬂ:t*
() Immaculete i) Imakulate

Directions : [n Question nos, 191 to 200, you have twao brief

passages with 5 questions following each passage. Read

the passages carefully and choose the best answer to each

question put of the four alternatives and mark it by

blackening the appropriate oval | & ] in the Answer Sheet.
Passage - | (. 0. 191-195)

We are living in the Age of Science. Everyday new
inventions are being made for the good of humanity, The
scientific inventions began after the industral Revolution
of 1789, Within these 200 vears. science has made a
wonderful progress. The asroplane i ane of the most
important inventions of science during the Moxdern Age. It
1% the Fastest means of transport known so far. An aeroplane
resernbles a flying bird in shape. Inside there are seats for
the passengers and a cabin for thie pilot. This cabin is called
acockpit. [t has an engine th.lal' is worked I:n petrol, Ttisall
made up of metal and can ﬂylat a very high speed. Before
taking off it runs on the runway for some distance to gather

speed. Then it suddenly hops up the earth and takes off.

191. The scientific invention began afi=r the Industrial
Revolobon of _
(aiTae (B

iy 1879 '

|8R4

W 1779
192. The cabir Jor the pilot is called 2
(A abicle {B] cube

cockpit (T chamber
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193, An asroplane has an engirs . o by
_5" aaattl
- (LY gas

1. The 15 one of the most important

mventions of science during the Modern Age

{A) ship \_jli[rfm:rtrplanu
() motor vehicle () train

195.  We are living in the
(41 Apeof inventions
(B) Apeof industrialization
(0} Madern Age
T Ape of science

Passage = 11 (). No. 196 - 200)

The Mational Highways Network of India measures
over TS kmoas of 2000, including over 1,000 km of
limited-access expressways, Out of 71,000 km of National
Highways 15,000 plus km are 4 or 6 lanes

_-'\,l'.|:|' L e roe T o ™ i — -

of India (NHAI) is the nodal agency responsible for
building, upgrading and maintaining most of the national
highways network, The National Highways Development
Project (INHDP) is a major effort to expand and upgrade
the netwaork of highways. NHAL often uses a public-private
partnership model for highway development, mamtenance
and toll-collection, National highways constituted about
2% of all the roads in India, but carried aboul 40% of the
total road traffic as of 2000, The majority of existing national
highways are two-lane roads {one lane in each direction),
thewgh much of this is being expanded to four-lanes, and
soune 10 51w or eight lanes, Some sections of the network are
tell roads. Ower 30,000 km of new highways are planned
or ungder construction as part of the NHDP, as of 2011

This includes over 2,600 km of expresswihvs curmentlv under

constrackion

CY-2013, Page31

'|u.-|

| 3%

198,

194,

' ﬁ[f;.l-'“ LI kin

et DWD-lanes

v nat is the current measurement of expresswa
ender construction in India ?

5,000 km B 30,000 km
2000 km (D 1,000 km

natis the responsibility of the NHAT 7
&l rlanning of National Highways
- puilding. upgrading and maintaining of
“wational Highways

() control of National Highways
0 expansion of National Highwavs

What iz the measurement of two-lane National

Highways of India ?
(A} 15,000 km , W) &1,000 km

(M) TLOO0 km

What percentage of roads in India are National
Highways 7

a2 (B) 30%

& 4% D) 40%

The majority of National Highways in India have:
(B six-lanes

eight-lanes () four-lanes

=0 o




